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PART B — (5 % 5 = 25 marks)
Answer any FIVE questions.

What are the purposes of cost sheet?
S b8 SiLLamanuier Cprésnd u_|rrg,1?

. From the following particulars, prepare a ‘cost sheet showing

Selling price per unit;

‘Raw materials Rs. 9,100
Labour and other direct expenses Rs. 4,000

Factory overhead 80% of the labour

Office overheads 10% of works cost

Selling and distribution expenses Rs. 2 per unit
Units produced and sold — 10,000 units
Percentage profit — 20% on sel]_mg price.

Epsnanid aﬂuum&eﬂc&@pg DL &5 éll_l_@JGU)GWI'U_(ﬂGU)GUT Swim
Qe 4

epeu@uT@Er @m. 9,100
el wpmd CHrg Geeway @h. 4,000
Qgrrgﬁl,r_r)srras)m Qeway 80% snallulier LBz

<sigieuas Cuoplaaisdr 10% Ggmfld oL sssden Lﬂgj
puerar wHmItb uSiorar CFwe sET DM@ RETNISE M. 2 65D
Slw@sar 2 Hugs wHmib efpLiear 10,000 G
@aoru dsn 20% aﬁlmpmm fenauler 1Bg). -

Ms. Kumar & Co., has furnished the following information from
its cost records in respect of job number 803 '

Materials Rs. 4,000

Wages : '

Departments X — 60 hours @ Rs. 3 per hour
Departments Y — 40 hours @’ Rs. 2 per hour
Departments Z — 20 hours @ Rs. 5 per hour

The overhead expenses for these three departments were
est1mated as follows

Variable Overheads :

Department X — Rs. 5,000 for 5,000 hours Department Y —
Rs. 3,000 for 1,500 hours Department Z — Rs. 2,000 for
500 hours Fixed Rs: 20,000 for 10,000 working hours. Calculate
the cost of job number 803 and price for the job to give a proflt of
25% on selling price.
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Qummer “A” epery ugapepsaile swumrdps. Gataimh SHeud
EP@LD LI (LPEOD STEH@GSMET Wit Glgwis.

Qurssd  Ligepen ] ugeeop I Lgepeop IIT

- - €h- eb- €h:
epouCunmLadT 15,084 5,200 3,960 5,924
0.6 18,000 4,000 6,000 8,000
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23. Explain:

(a) Vehicle register

(b) Workshop register.

(@) earsar ufHGau®

(<) uafleer uHCau® — elaté@s.

24. From the following, calculate :
(a) BEP
(b) Margin of safety

(c) ~ Sales to earn a profit of Rs. 1,20,000
Rs.

Sales 6,00,000
Variable cost 3,75,000
’ Fixed costs  1,80,000
Qeraumeuareupenn ser(ly. :
(=) &Mew yeraf
() UMFISTLIL] T
(@) Qe 5. 1,20,000 FLGb Cung efprienar
N ) @».
eflhLiena 6,00,000
wryuGL Qeay | 375,000
feows Gsosy  1,80,000
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50 units are introduced into a procesé at a cost of Rs. 50. The

_total additional expendlture incurred by the process is Rs. 32 of

the units introduced 10% are normally spoiled in the course of
manufacture. They possess scrap value of Re. 0.20 each. Owing

to an accident only 40 units are produced. Prepare the process

account.

50 SO@GEET LigpaD Sarddld Ggm_mieruul_r_g; |GG L&D
m. 50. Gwrgs &bz @&mma’m Ulgpennd seanradle . 32
oLt ulleir (?urrgj Frgmyenr BLL b 10% ghu@Eng. Siser sifla
QummeTsEeT <260 @epl  0.20  euLgn s eflpLiener
Qawwiu@Eng. Glser epab Qupn Qeaalluih 40 i@ @Gser -;%@LD
L apenn semrddlenen suimt Gelis.

What are the objectives of transport costing?

Gurra;@mnggj =91|_asa;5>91u_1615166r Crréshiger wrg) ?

What are the assumpt1ons of BEP?
BEP-Wleir a{@jmwmrmasmm.cr@gs.

From the following data calculate :

(a) P/V Ratio

(b) Variable cost and

(c) Profit- «
Sales ! - Rs. 80,000
Fixed expenses ~ Rs. 15,000

Break even point Rs. 50,000
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PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Explain the functions of cost accounting.

. SiLssellane samsdwuaar Laflgsmer ademsEs.

During 2021, Indian contractors Ltd. undertook two contracts,
the on 1 July 2021 and second on 30t Sep. 2021. On
31¢t December when accounts were made up, their position was

“as follows : :
Particular’s Contract =1 Contract —II
' Rs. Rs.

* Contract price 2,70,000 3,00,000
Expenditure :
Madterials ' - 58,000 +20,000
Wages . 1,12,400 14,000
General expenses ’ 2,800 1,000
Plant installed , 16,000 . 12,000
Materials on hand ) 4,000 - 2,000
Wages accrﬁed ; 3,600 .1,600
General expenses accrued 400— . 200
Work certified ~1,60,000 36,000
Cash received 1,20,000 27,000
Work uncertiﬁed : N 8,000 ~ 2,000

The plant was installed on the dates of the contracts and
depreciation is ‘to be provided-at 10% pa. Prepare contract
accounts in columns form and show the extracts in the balarnce
sheet of the company relating to the two contracts.
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@pHlwer @uUbBSSTITSET EWHGLL, 2021-b a@rgd @ren®
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efleuyrisgr grupsd -1 guupsn —II -
| o GO
© @uups e | 2,70,000 3,00,000
Qa5 : =
- peri@ung s - 58,000 - 20,000
60 "+ 1,12,400 - 14,000
Qurgls Qeeveyser 2,800 1,000
Qumhl Aummsgins ' 16,000 12,000
asWllBLIL F7&8mLILY 4,000 2,000
G anel 3,600 ~ 1,600
Gsirpg Qung Geweyser 400 : 200
Couwa srempefiLiLy 1,60,000 36,000
Qupp Aprésn 1,20,000 27,000-
sranpeficifoor Geuamen 8,000 2,000
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10% Cslionend @&&sULCLg. @rar® @uLIbsEIsarT e @uuppgs
sand @ wHmId Gl Hlaws GHluy swit Gelis _

22. Product ‘A’ is obtained after it passes through three distinct
processes. Prepare process account from the following :
Total ProcessI -Process II Process IIT
Rs. Rs.  BRs Rs.
' Materials 15,084 5,200 13,960 5,924
Wages _ 18,000 4,000 6,000 8,000

Production overheads 18,000 A i = 4

1,000 units of materials @ Rs. 6 per unit were introduced in
process I, production overhead is to be distributed as 100% on
wages. o
Process Total output units Normal loss Value of scrap

per unit (Rs.)

1 950 - 5% 4
I 840 10% 8
III 750 15% 10
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